Top 20 Computer Awareness MCQs for Maharashtra,
SSC and Railway 08 May 2024

1.

How can you remove borders applied in Cells in Microsoft Excel?
A) Select None on the Border tab of Format cells

B) Open the list on the Border tool in the Format Cell toolbar then choose the first
tool (none)

C) Both of the above

D) None of the above

Answer: D) None of the above

Which of the following is not a valid data type in MS Excel?

A) Number

B) Character

C) Label

D) Date/Time

Answer: B) Character

What is the maximum number of rows in a Microsoft Excel worksheet?
A) 524,288

B) 1,048,576

C) 256,384

D) 16,384

Answer: B) 1,048,576

How many columns can a Microsoft Excel worksheet accommodate?
A) 524,288

B) 1,048,576

C) 256,384

D) 16,384

Answer: D) 16,384

. In Microsoft Excel spreadsheets, rows are designated as

A)1,2,3,...

B)A, B, C,...

C) Al,BI,Cl1, ....

D) L, 11, IIL,...

Answer: A) 1,2, 3,...

Which logical function indicates TRUE only if all arguments are assessed as TRUE,
and FALSE otherwise?

A) OR

B) AND

C)IF

D) ANDIF

Answer: B) AND

The intersection of a column and a row in a worksheet is called
A) Column

B) Address

C) Value

D) Cell

Answer: D) Cell

The Greater Than sign (>) exemplifies a/an operator.

A) Arithmetic
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B) Conditional

C) Logical

D) Greater

Answer: C) Logical

Which type of chart is good for a single series of data?
A) Column chart

B) Cone chart

C) Line chart

D) Pie chart

Answer: D) Pie chart

What do Excel formulas start with?
A)/

B) f

C)=

D) -

Answer: C) =

Which term represents Average Bit Rate?
A) ABR

B) ABP

C) AVG

D) ARB

Answer: A) ABR

What does ADSL stand for?

A) Asymmetric Digital System Line

B) Asymmetric Digital Subscriber Line
C) Advanced Digital Subscriber Loop
D) Automated Digital Subscriber Link
Answer: B) Asymmetric Digital Subscriber Line
Which abbreviation stands for Advanced Graphics Port?
A) AGP

B) ARP

C) AGR

D) AGT

Answer: A) AGP

Al in computer science stands for:

A) Automated Instruction

B) Advanced Interaction

C) Attificial Intelligence

D) Automated Integration

Answer: C) Artificial Intelligence
What does AIM represent?

A) Advanced Internet Messenger

B) AOL Instant Messaging

C) Automated Instant Messenger

D) Active Instant Messaging

Answer: B) AOL Instant Messenger
ALGOL is an abbreviation for:

A) Automated Language

B) Algorithmic Language

C) Advanced Logic
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D) Automated Logic

Answer: B) Algorithmic Language

What does ALU stand for in computer architecture?
A) Arithmetic Logic Unit

B) Automated Logic Unit

C) Advanced Language Unit

D) Algorithmic Logic Unit

Answer: A) Arithmetic Logic Unit

AMD is an abbreviation for:

A) Automated Micro Devices

B) Advanced Micro Devices

C) Automated Machine Devices

D) Advanced Machine Devices

Answer: B) Advanced Micro Devices
What is MS Excel?

A) Spreadsheet

B) Database Management

C) Presentation

D) Workbook

Answer: A) Spreadsheet

What is the primary use of ChatGPT?

A) Providing cooking recipes

B) Assisting with web development tasks
C) Playing video games

D) Teaching foreign languages

Answer: B) Assisting with web development tasks



